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Given f(x) and g(x), where f(x) and g(x) are differentiable functions,
then

Z(@g@ = 96 £1(x) + £Gaay'(¥)
o of + €

&ee Khan’s proof at: https://youtu.be/L5ErICOCOXxI

' Examp;le 1: Given h(;c) = (3;c + 4)(.2x2 + 5.x — 1),.find h’(.x).
W'0)= (22 +5x=1)(3) + (Bx+U)( dx~+5)
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[We)= W+ Uex+ 0]

- Example 2: Given g(x) = (¥x + 1)(4 — x2), find g'(x). .
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q't)= Q-l n—x")( TX h‘> + (X e \3('7')‘) :
-\; x + —2x M -2X

- Example 3: Find the equation of the tangent line for v(t) = (t2 + 1)(4t> —5)att = 1
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https://www.mathkanection.com/bc-unit-2-derivatives.html#ProductRule
https://www.mathkanection.com/bc-unit-2-derivatives.html#ProductRule
https://youtu.be/L5ErlC0COxI

. Example 4: Let h(x) = a(x)w(x) and q(x) = 3a(x) — 2w(x). Find h'(1) and q'(0).
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W(x)= wWix)at () + a(x) W '(¥)
W)= W () + GOw'(n)
g(-2) + 4(3)

2(x)= 2a'(X) - 2 w'(x)
q'(6) = 3a'(0) - 2 w'(0)
= 30‘) -2C-7)

g'(0)= |

€5: Find @’ '(0) where a(x) = (4x° — 7x + 3)(x? — 4).
a!(x)= (& —u) 20x" =)+ (A =T+ D) (2x)
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